

MDR CONSTRUCTION ON 621 EAST BAYING CHARL CCLUMBIA, MS 39429 PHONE GOLVON 2716 FAX 601 VS1 2774

November 12, 2018

Mr. Clint Brown Flordia Public Utilites Week Ending November 11, 2018 Foreman Jayson Breland Storm Number FE1890469751430

1.5				
Overtime		Qty	Price	Total
Foreman		112.00	100.49	11,254.88
Lineman		224.00	84.65	18,961.60
Operator/Truck Driv	er	112.00	69.99	7,838.88
Groundman		224.00	64.62	14,474.88
			Total Men	52,530.24
<u>Equipment</u>		Qty	Price	Total
Crew Cab Pick-up		112.00	24.31	2,722.72
Material Handler Buc	ket 57'	224.00	47.36	10,608.64
Digger Truck		112.00	47.36	5,304.32
Pole Trailer		112.00	17.60	1,971.20
Rope Rig		112.00	25.00	2,800.00
Tension Trailer		112.00	25.00	2,800.00
		То	tal Equipment	26,206.88
			Total Meals	1,890.00
er i page de silita		Tot	al Due to MDR	80,627.12



Jayson Brealnd

FE1890469751430

Week Ending

11/11/2018

Location

Florida Public Utilities

	Men ar	nd Hou	ırs					Tot	als			
Weekday	5	6	7	8	9	10	11			Meals	Motels	Other
Employee Name	M	T	W	T	F	S	S	RT	ОТ			
Jayson Breland	16	16	16	16	16	16	16		112	315		Foreman
William D'Andrea	16	16	16	16	16	16	16		112	315	abstract phones of	Lineman
Donald Pierce	16	16	16	16	16	16:	16		112	315		Lineman
Ryan Edwards	16	16	16	16	16	16	16		112	315		Operator
Taylor Boyle	16	16	16	16	16	16	16		112	315		Groundman
Jaylin Brown	16	16	16	16	16	16	16		112	315		Groundman
									And the special property of th	17-2-27-3		
				A de California de La California de Californ	Estantia in Succession			en e		1890		, Total

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information, Regulations for reporting meals is located at the bottom of this sheet

	Additional Information									
Monday 5.	ighio ameriono emergia									
Tuesday	6:00 AM - 10:00 PM									
Wednesday	6:00 AM - 10:00 PM									
Thursday	6:00 AM - 10:00 PM									
Friday	6:00 AM - 10:00 PM									
Saturday	6:00 AM - 10:00 PM									
Sunday	6:00 AM=10:00 PM									

List above any additional information needed, If you work on several circuits specifiy how many hours on each circuit for each day. If a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics

					EQUI	PMEN	T	
Equipment#	M	T	W	T	F	S	\$	To
697 Crew Cab Pickup	16	16	16	16	116	16	16	
582 Material Handler Bucket	16	16	16	16	16	16	16	
713 Material Handler Bucket	16	16	16	16	16	16	16	
804 Digger Derrick	16	16	16	16	16	16	16	THE PERSON NAMED IN COLUMN TWO IS NOT THE OWNER.
631 Pole Trailer	16	16	16	16	16	16	16	
563 Rope Rig	16	16	16	16	16	16	16	AT IN THE PARTY OF
516 Tension Trailer	16	16	16	16	16	16	16	
				**************************************				Mercania de la companya del companya de la companya del companya de la companya d

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

MDR Construction

Weekly Timesheet



Foreman Jayson Breland Job No FE1890469751430

Week Ending 11/11/2018 Location FPU Marianna Hurr. Michael

	Men ar	nd Ho	urs					To	tals	35	
Weekday	5	6	7	8	9	10	11			8	Other
Employee Name	M	T	W	Т	F	8	S	RT	OT	eals	
Jayson Breland	16	16	16	16	16	16	16				Line-Foreman
William D'Andrea	16	16	16	18	16	16	16				Line-Journeyman
Donald Pierce	16	16	16	16	16	16	16				Line-Journeyman
Ryan Edwards	16	16	16	16	16	16	16	:			Equipment Operator
Taylor Boyle	16	16	16	16	16	16	16				Line-Groundman
Jaylin Brown	16	16	16	16	16	16	16		,		Line-Groundman

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's Initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information. Regulations for reporting meals is located at the bottom of this sheet.

	Additional Information										
Monday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.									
Tuesday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.									
Wednesday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.									
Thursday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.									
Friday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.									
Saturday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.									
Sunday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.									

List above any additional information needed. If you work on several circuits specifiy how many hours on each circuit for each day, if a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each.

1 11/ /
NO
₹ 1. 118
1110
111
A Company of the Comp

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidalines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

C-101



MOR CONSTRUCTION III

621 EAST BAYLIS CHAIN

CHLUMBIA, ME 394223

PHONE 601.731 2716

PAX: 601 731 2774

November 12, 2018

Mr. Clint Brown Flordia Public Utilites

Week Ending November 11, 2018 Foreman Jeff Thompson Storm Number FE1890469751430

	Qty	Price	Total
	112.00	100.49	11,254.88
	224.00	84.65	18,961.60
er	112.00	69.99	7,838.88
	112.00	64.62	7,237.44
		Total Men	45,292.80
	Qty	Price	Total
	112.00	24.31	2,722.72
ket 57'	224.00	47.36	10,608.64
	112.00	1,200	5,304.32
2,97133	112.00	17.60	1,971.20
	Tot	al Equipment	20,606.88
		Total Meals	1,575.00
67,474,65	Tota	al Due to MDR	67,474.68
	ket 57'	112.00 224.00 112.00 112.00 2ty 112.00 224.00 112.00 112.00 112.00 Tot	112.00 100.49 224.00 84.65 112.00 69.99 112.00 64.62 Total Men Qty Price 112.00 24.31 224.00 47.36 112.00 47.36 112.00 17.60 Total Equipment Total Meals



Jeff Thompson

FE1890469751430

Week Ending

11/11/2018

Location

Florida Public Utilities

	Men ar	nd Ho	urs					Totals			
Weekday	5	6	7	8	9	10	11		Meals	Motel	Other
Employee Name	M	T	W	T	F	S	S	RT OT			
Jeff Thompson	1(8)	16	16	16	16	16	16	112	3/15		Foreman,
Chris McKee	16	16	16	16	16	16	16	112	315		Lineman
Justin Weston	16	16	16	16	16	16	16	112	315		Lineman
Justin Lyles	16	16	16	16	16	16	16	112	315		Operator
Adam Land	16	16	16	16	16	16	16	112	315		Groundman
				(Asalin and			Pro-				
Maring A.			Annual Control of the		A PROPERTY.						
					TANK A VI				1575		iotal##

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information, Regulations for reporting meals is located at the bottom of this sheet,

	Additional Information									
Monday	- (6:00 AM - 10:00 PM									
Tuesday	6:00 AM - 10:00 PM									
Wednesday	6:00 AM - 10:00 PM									
Thursday	6:00 AM - 10:00 PM									
Friday -	6:00 AM - 10:00 PM									
Saturday	6:00 AM - 10:00 PM									
Sunday	6:00 AM - 10:00 PM									

List above any additional information needed. If you work on several circuits specifiy how many hours on each circuit for each day, if a circuit or job is completed please make note of that, If part of the day was storm and part of it was your requiar job pleas

EQUIPMENT												
Equipment #	_M _	T	W	T	F	S	S	То	From			
597 Crew Cab Pickup	16	16	16	16	16	16	1(8,					
739 Material Handler Bucket	16	16	16	16	16	16	16					
583 Material Handler Bucket	16	16	16	16	16	16	16					
480 Digger Derrick	16	16	16	16	16	16	16	A STATE OF THE STA				
608 Pole Trailer	16	. 16	16	16	16	16	16					
	and November			tribut and Plant Co.				A STATE OF THE STA	M. 134 M. 19 M.			
		1						The state of the s	The second secon			

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

MDR Construction

Weekly Timesheet



Foreman Jeff Thompson Job No FE1890469751430

Week Ending 11/11/2018 Location FPU Marianna Hurr. Michael

	Men and Hours Totals											
Weekday	5	6	7	8	9	10	11			Meals	Other	
Employee Name	M	T	W	T	F	S	S	RT	OT	S		
Jeff Thompson	16	16	16	16	16	16	16			1	Line-Foreman	
Chris McKee	16	16	16	16	16	16	16				Line-Journeyman	
Justin Weston	16	16	16	16	16	16	16				Line-Journeyman	
Justin Lyles	16	16	16	16	16	16	16				Equipment Operator	
Adam Land	16	16	16	16	16	16	16				Line-Groundman	
											a worked with an V and not a	

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initiats in the corresponding space, Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information, Drive time should be represented under Other. Please provide specifics for multiple lob days in Additional Information. Regulations for reporting meals is located at the bottom of this sheet.

	Additional Inform	nation				
Monday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.				
Tuesday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.				
Wednesday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.				
Thursday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.				
Friday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.				
Saturday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.				
Sunday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.				

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day, if a circuit or job is completed please make note of that, if part of the day was storm and part of it was your regular job please give specifics for each.

				EG	UIPM	ENT	
Equipment #	M	T	W	T	F	8	8
597 Crew Cab Pickup	16	16	16	16	16	16	16
739 Material Handler Bucket	16	16	16	16	16	16	16
583 Material Handler Bucket	16	16	16	16	16	16	16
480 Digger Derrick	16	16	16	18	16	16	16
808 Pole Trailer	16	16	16	16	16	16	16
		Secretary State					
			ri		و کمانانات کا گریدی		
A CONTRACTOR OF THE PARTY OF TH							

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews teaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on atom work should be charged on the foreman's credit card, unless meals are supplied by the customer. U. C-101



MOR CONSTRUCTION III
621 CAST BAYLIS CHAPL
CULUMBIA, ME 39429
PHONE 6UI 731 2716
FAX: 601 731 2774

November 12, 2018

Mr. Clint Brown	
Flordia Public Utilites	

Week Ending November 11, 2018 Foreman Jeremy Kirkland Storm Number FE1890469751430

Overtime		Qty	Price	Total
Foreman		112.00	100.49	11,254.88
Lineman		224.00	84.65	18,961.60
Operator/Truck Drive	• 10.10	112.00	69.99	7,838.88
Groundman		224.00	64.62	14,474.88
Togel Aspe			Total Men	52,530.24
Equipment		Qty	Price	Total
Crew Cab Pick-up		112.00	24.31	2,722.72
Material Handler Buck	et 57'	224.00	47.36	10,608.64
Digger Truck		112.00	47.36	5,304.32
Pole Trailer		112.00	17.60	1,971.20
		То	tal Equipment	20,606.88
			Total Meals	1,890.00
		Tot	al Due to MDR	75,027.12



Jeremy Kirkland

No FE1890469751430

Week Ending

11/11/2018

Location

Florida Public Utilities

	Men a	nd Hou	Totals			T = CALLEGE					
Weekday	5	6	7	8	9	10	11		Meals	Motel	Other
Employee Name	M	T	W	T	F	S	S	RT OT			
Jeremy Kirkland	16	16	16	16	16	16	16	112	315		Foreman
Matt Chisholm	16	16	16	16	16	16	16	112	315		Lineman
Chris Whiddon	16	16	16	16	16	16	.16	112	315		Lineman
Colby Halcomb	16	16	16	16	16	16	16	112	315		Operator
Jimmy Brown	16	16	16	16	16	16	16	112	315		Groundman
Ben Kirkland	16	16	16	16	16	16	16	112	315		Groundman
		and the same of						Arrane and Laborator			
				enemana pa							
				7-71-00-01			designation and				
45									1890		/ Total

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information, Regulations for reporting meals is located at the bottom of this sheet.

	Additional Information									
Monday	GROSEN METOROLOGICALINA									
Tuesday	6:00 AM - 10:00 PM									
Wednesday	6:00 AM = 10:00 PM									
Thursday	6:00 AM - 10:00 PM	Chi 24 Delin American Schreider general and a delin at Administration of the Late Control of the American Schreider and American Schreide								
Friday	6:00 AM = 10:00 PM									
Saturday	6:00 AM - 10:00 PM									
Sunday	6:00 AM -10:00 PM									

List above any additional information needed, if you work on several circuits specifiy how many hours on each circuit for each day, if a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each.

EQUIPMENT											
Equipment#	M	T	W	T	F	S	S	To	Fron		
askiewenianowo	16	7(16)	16	16	16	16	18				
722 Material Handler Bucket	16	16	16	16	16	16	16				
675 Material Handler Bucket	16	16	16	16	16	16	16				
565 Digger Derrick	16	16	16	16	16	16	16	A SECOND OF THE PERSON OF THE			
684 Pole Trailer	16	16	16	16	16	16	16				
								1			
	A. SELVERY										
				The state of the s							

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

MDR Construction

Weekly Timesheet



Foreman Jeremy Kirkland Job No FE1890469751430

Week Ending 11/11/2018 Location FPU Marlanna Hurr. Michael

	Men ar	id Ho	ars .					To	tals			i glaspacida
Weekday	5	6	7	8	9	10	11	Partie State of Parties and		Meals	Motors	Other
Employee Name	M	T	W	T	F	S	S	RT	TOT			
Jeremy Kirkland	16	16	16	16	16	16	16					Line Foreman
Matt Chisolm	16	16	16	16	16	16	16			1		Line Journeyman
Chris Widdon	16	16	16	16	16	16	16					Line Journeyman
Colby Holcomb	16	16	16	16	16	16	16					Equipment Operator
Jimmy Brown	16	16	16	16	16	16	16					Line Groundman
Ben Kirkland	16	16	16	16	16	16	16				ilian sa recar	Line Groundman
			***************************************			i ; i i i i i i						
			1)10-03					ESTA de milito may				
to the second particle of the second that a							No. of Concession,			<u> </u>		All the second s

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initiats in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information. Regulations for reporting meals is located at the bottom of this sheet.

	Additional Infor	matlon
Monday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL
Tuesday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL
Wednesday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL
Thursday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL
Friday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL
Saturday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL
Sunday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL

					EQUI	PMEN	T		an house and an all the same
Equipment #	M	T	W	T	F	S	S	To	From
682 Crew Cab Pickup	16	16	16	16	16	16	16		
722 Material Handler Bucket	16	16	16	16	16	16	16		
675 Material Handler Bucket	16	16	16	16	16	16	16	N/J	
565 Digger Derrick	16	16	16	16	16	16	16	11/11/11/4	1
684 Pole Trailer	16	16	16	16	18	16	16	1/1/1/10	
						total Steady		1111	and the work to the property of the state of
A STATE OF THE STA						A ACCRET OF ME SHEET	· ·	AND THE PERSON NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TO SERVICE AND ADDRESS OF THE PERSON NAMED IN COLUMN TO SERVICE AND A	
region at your property of the second of the									A 199 Sept of Artifact Late Control of the Control
				-				According to the second of the	· · · · · · · · · · · · · · · · · · ·

Please Include in the spaces provided the number of meals for each member of the crew for the entire week, it is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals awayspylet in the according to the second control of the second control of the entire week, it is company policy to pay a maximum of three meals for it is company policy to pay a maximum of three meals for it is company policy to pay a maximum of three meals for it is company policy to pay a maximum of three meals for it is company policy to pay a maximum of three meals for it is company policy to pay a maximum of three meals for it is company policy to pay a maximum of three meals for it is company policy to pay a maximum of three meals for it is company policy to one meal for that night. Meals for Monday mornings will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless the maximum of the meals for employees on storm work should be charged on the foreman's credit card, unless the maximum of the meals for employees on storm work should be charged on the foreman's credit card, unless the maximum of the meals for employees on storm work should be charged on the foreman's credit card, unless the maximum of the meals for employees on storm work should be charged on the foreman's credit card, unless the meals for employees on storm work should be charged on the foreman's credit card, unless the meals for employees on storm work should be charged on t



MOR CONSTRUCTION OF THE BRI CAST BAYING CHAPT COLUMBIA, NO 30420 PHONE GOI 701 2774

November 12, 2018

Mr. Clint Brown Flordia Public Utilites

Week Ending November 11, 2018
Foreman Jerry Brown
Storm Number FE1890469751430

Overtime		Qty	Price	Total
Foreman		112.00	100.49	11,254.88
Lineman		224.00	84.65	18,961.60
Operator/Truck Drive	r 733836	112.00	69.99	7,838.88
Groundman		112.00	64.62	7,237.44
ð				7,237.44
			Total Men	45,292.80
<u>Equipment</u>		Qty	Price	Total
Crew Cab Pick-up	1777	112.00	24.31	2,722.72
Material Handler Buck	et 57'	224.00	47.36	10,608.64
Digger Truck	5,321,22	112.00	47.36	5,304.32
Pole Trailer		112.00	17,60	1,971.20
Back Yard Buggy		112.00	45.00	5,040.00
o Tradicio de La Compania de la Comp	25,662.83	Tota	al Equipment	25,646.88
			Total Meals	1,575.00
		Tota	Due to MDR	72.514.68



Jerry Brown

FE1890469751430

Week Ending

11/11/2018

Location

Florida Public Utilities

	Totals											
Weekday	5 .	6	7	8	9	10	11			Meals	Motel	Other
Employee Name	М	T	W	T	F	S	S	RT	ОТ			
Jeny Brown 🖳 🐪 🚓	16	-16	16	16	16	16	16		112	315	**************************************	- Folicinian -
Cole Stewart	16	16	16	16	16	16	16		112	315		Lineman
Owen Breazeale	16	16	16	16	16	16	16		112	3/15		Lineman
Jerry Chisholm	16	16	16	16	16	16	16		112	315		Operator
Monroe Beardain	16	16	16	16	16	16	16		112	315		Groundman
					The same of the sa	THE REPORT OF THE PARTY OF THE					The state of the s	
(6										1575		Total 15 c

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero, if one of your crew members worked with another Foreman, indicate this by putting the other Foreman's Initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime, if you worked on more than one job during the week please specify days on each job under Additional Information, Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information. Regulations for reporting meals is located at the bottom of this sheet.

		Additional Information
Monday	(6)0(0)AM=10,0012M====	
Tuesday	6:00 AM - 10:00 PM	
Wednesday	6:00 AM - 10:00 PM	
Thursday	6:00 AM - 10:00 PM	
Friday	6:00 AM - 10:00 PM	
Saturday	6:00 AM - 10:00 PM	
Sunday	GEODEAN ELECTRO DE EN	

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day. If a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each,

					EQUI	PMEN	T
Equipment #	M	T	W	T	F	S	S
586 Grew Cab Pickup	16	16.	16	16	16	16	16
629 Material Handler Bucket	16	16	16	16	16	16	16
657 Material Handler Bucket	16	16	16	16	16	16	16
651 Digger Derrick	16	16	16	16	16	16	16
660 Pole Trailer	16	16	16	16	16	16	16
663 Back Yard Machine	16	16	16	16	16	16	16
The state of the s		20.4					

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

MDR Construction

Weekly Timesheet



Foreman Jerry Brown Job No FE1890469751430

Week Ending 11/11/2018 Location FPU Marianna Hurr, Michael

The street of th	Men ar	id Ho	urs			- Anna Anna Anna Anna Anna Anna Anna Ann		То	tals			
Weekday	5	6	7	8	9	_ 10	11			Meals	Motel	Other
Employee Name	M	T	W	T	F	S	8	RT	OT			
Jerry Brown	16	16	16	16	16	16	16					Line-Foreman
Cole Stewart	16	16	16	16	16	16	18		1			Line-Journeyman
Owen Breazeale	16	16	16	18	16	16	16					Line-Journeyman
Jerry Chisolm	16	16	16	18	16	16	16	yay s Sirator divard	**************************************			Equipment Operator
Monroe Bearden	16	16	16	16	16	16	16					Line-Groundman
		er a montaba.				*****************		a famourant	1	enterior) e mango		Alleman and the second of the
		· #4 # # # # # # # # # # # # # # # # # #	zácen interes		HIARADE	energies skip een	jananistandiinad	-Nul est relation and				
In the spaces provided shows it	Marrie Contraction			1 0 m 10 dain 1 p. 10 1	brand plansphie	1721791-5		******				

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's Initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional information. Drive time should be represented under Other, Please provide spacifics for multiple job days in Additional Information. Regulations for reporting meals is located at the bottom of this sheet.

	Additional Information								
Monday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.							
Tuesday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.							
Wednesday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.							
Thursday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.							
Friday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.							
Saturday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.							
Sunday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.							

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day, if a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each.

			_		EQUI	PMEN	7	The second secon	
Equipment #	M	T	W	T	F	S	S	To	From
586 Crew Cab Pickup	16	16	16	16	16	16	16		1. 1. 1. 1.
629 Material Handler Bucket	16	16	16	16	16	16	16		A STATE OF THE PERSON AND AND ASSESSED.
657 Material Handler Bucket	16	16	16	16	16	16	16	1 WW	
651 Digger Derrick	16	16	16	16	16	16	16	1111111	of the self-self-self-self-self-self-self-self-
660 Pole Trailer	16	16	16	16	16	16	16	110 1118	
663 Backyard Machine	16	16	16	16	16	16	16	L'INN'	A Trial and the second and a second a second and a second a second and
			Marie e sen Marie de la cara d	Ember artiful	yangan addi	ork tearlies (C. A. optic 12)	×********		
					-			William Willia	1 Paris 4 Property 100 Paris 100 Par
								THE STATE OF THE S	Principal and the second second

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last

MDR Construction

Weekly Timesheet



MOR CONSTRUCTION (14 52) EAST BAYLIS CHAIL COLUMBIA, ME 39425 PHONE 601 731 2774

November 12, 2018

Mr.	Clint	Brov	vn
Flore	dla P	ublic	Utilites

Week Ending November 11, 2018 Foreman Jody Stevens Storm Number FE1890469751430

Overtime		Qty	Price	Total
Foreman		112,00	100.49	11,254.88
Lineman		224.00	84.65	18,961.60
Operator/Truck Driv	er	112.00	69,99	7,838.88
Groundman		112.00	64.62	7,237.44
			Total Men	45,292.80
<u>Equipment</u>	1000	Qty	Price	Total
Crew Cab Pick-up	2,727.72	112,00	24.31	2,722.72
Material Handler Bud	ket 57'	336.00	47.36	15,912.96
Digger Truck	5,775,32	112.00	47.36	5,304.32
		To	tal Equipment	23,940.00
	2,500 FB)		Total Meals	1,575.00
	V6,927.80	Tot	al Due to MDR	70,807.80



Jody Stevens

FE1890469751430

Week Ending

11/11/2018

Location

Florida Public Utilities

	Men ar	nd Hou	ırs					To	tals			
Weekday	5	6	7	8	9	10	11			Meals	Motel	Other
Employee Name	M	T	W	T	F	S	S	RT	ОТ			
Jody Stevens	16	16	16	16 .	16	16	16		1112	315		Foreman
Stephen Strayer	16	16	16	16	16	16	16		112	315		Lineman
Brad Cathy	16.	16	16	16	16	16	16		112	315		Lineman
Anthony York	16	16	16	16	16	16	16		112	315	Opposite transfer	Operator
Frevor Gortemiller	16	-16	16	16	16	16	16		112	315		Groundman 1
								def film de maner varied by it is consistent to the consistent to	huosestanii Marajel Area			
	# 7 18									1575		

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information, Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information. Regulations for reporting meals is located at the bottom of this sheet.

		Additional Information						
Monday	CHOPPANE CHOPPAN							
Tuesday	6:00 AM - 10:00 PM							
Wednesday	6:00 AM: 10:00 PM							
Thursday	6:00 AM - 10:00 PM							
Friday	6:00 AM - 10:00 PM							
Saturday	6:00 AM - 10:00 PM							
Sunday	6:00 AM 40:00 PM							

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day, if a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each,

793		dia and			EQUII	PMEN	r
Equipment #	M	T	W	Т	F.	S	S
785 Grew Galo Pickup	16	16	1.6	16=	16	16	16
793 Material Handler Bucket	16	16	16	16	16	16	16
794 Material Handler Bucket	16	16	16	16	16	16	16
795 Material Handler Bucket	16	16	16	16	16	16	16
418 Digger Derrick	16	16	16	16	16	16	16
	9.5 E. 						

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

MDR Construction

Weekly Timesheet



Foreman **Jody Stevens** Job No FE1890469751430 11/11/2018 Week Ending Location FPU Marianna Hurr. Michael

	Men and Hours									3	de all con
Weekday	5	6	7	8	9	10	11			Meals	Other
Employee Name	M	T	W	T	F	8	S	RT	OT	S	
Jody Stevens	16	16	16	18	16	16	16				Line-Foreman
Stephen Strayer	16	16	16	16	16	16	16				Line-Journeyman
Brad Cathy	16	16	16	16	16	16	16				Line-Journeyman
Anthony York	16	16	16	16	16	16	16				Equipment Operator
Trevor Gortemiller	16	16	16	16	16	16	16				Line-Groundman
To the engage provided above the								**************************************			

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, Indicate this by pulting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one tob during the week please specify days on each job under Additional information. Drive time should be represented under Other. Please provide specifics for multiple lob days in Additional Information, Regulations for reporting meals is located at the bottom of this sheet.

	Additional information								
Monday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.							
Tuesday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.							
Wednesday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.							
Thursday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.							
Friday	Start 6:00 am thru 10:00 pm	Working at Marlanna, FL.							
Saturday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.							
Sunday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.							

List above any additional information needed, if you work on several circuits specify how many hours on each circuit for each day. If a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each,

				EG	UIPM	ENT	
Equipment #	M	T	W	T	F	S	S
785 Crew Cab Pickup	16	16	16	16	16	16	18
793 Material Handler Bucket	16	16	16	16	16	16	16
794 Material Handler Bucket	16	16	16	16	16	16	16
418 Digger Demick	16	16	16	16	16	16	16
795 Material Handler Bucket	16	16	16	16	16	16	16
		A COMPANY OF THE	Oran Parket				************
					-		4.77

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crows leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the tast day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer. Weekly Timosheet

MDR Construction